

MODO Academy Application Form - 2021 Intake

Dear Potential Applicant,

MODO Academy is happy to invite you to apply for admission for our fashion and design program. We hope to welcome you to our community of fashion designers committed to providing you with the best knowledge and skills in fashion and design entrepreneurship. We are an organization that offers hands on training in tailoring and fashion design to provide you with necessary skills to compete favorably in this industry. We already have a strong reputation for being the best in Gulu, and hopefully we will help you too to become the great fashion designer and tailor you've always wanted to be.

OUR VISION

• A world where every woman has the opportunity to design their own future and where Uganda is designing it's own way forward.

OUR MISSION

To create economic opportunity for female youth in northern Uganda through training in tailoring and fashion design.

CORE VALUES

- ✓ Transparency
 - o MODO partners with honest individuals who portray integrity.
- ✓ Excellence
 - o We strive for excellence in delivering the best results possible.
- ✓ Collaboration
 - o It takes a team, we're all on this journey together!
- ✔ Professionalism
 - o Carrying out details with the utmost respect and thoroughness.
- ✓ Lifelong Learning
 - o Never stop asking questions. We believe that learning never ends.

Fashion Entrepreneurship Program

INTRODUCTION TO THE COURSE

Clothing is one of the most basic needs of human beings. The fashion industry is always evolving and changing with new styles presenting themselves every day. With change in fashion & style, the stitching of garment also changes. Hence keeping in view the market demand and change in fashion technology, courses on cutting, tailoring & dress making have been suitably designed in the structure of non-formal education. MODO Academy's Fashion Entrepreneurship program is designed to equip you with the necessary knowledge and skill set to become the best fashion entrepreneur possible.

OBJECTIVES

- To provide the latest trends, knowledge, information and practice in tailoring, fashion and design entrepreneurship.
- To build work ethics, handling different types of clients, and mastering appropriate communication skills.
- To enable students to get hands-on experience in the industry.
- To develop student understanding of work ethics, employment demand, responsibilities and opportunities.
- To enhance and strengthen linkages between our tailoring institute and various stakeholders.
- To provide knowledge & training in;
 - o Fashion and entrepreneurship
 - o Fashion marketing, strategy, branding and promotion
 - o Use of tools & equipment used in tailoring trade
 - o Sewing terminology
 - o Taking correct body measurements
 - o Basic hand & machine stitches
 - o Designing, drafting & pattern making
 - o Layout & fabric estimation
 - o Cutting, tailoring & finishing of garments for children, ladies & gents.
 - o Alteration, defects & remedies to fitting problems.
 - o Processes of quality control, packaging, labeling, marking, costing & promotion.
 - o Sourcing of fabrics, trends & relating to the servicing process.
 - o Skill to construct professional looking garments.
 - o Enhancing employability & entrepreneur skills.

FASHION ENTREPRENEURSHIP PROGRAM PRICING

The total fees for our one-year fashion entrepreneurship program amount to 2,200,000 UGX.

Program Fees	Fees for the one-year program	1,000,000 UGX
Requirements	Material requirements for the program (detailed breakdown on the next page)	700,000 UGX
Sewing Machine	Our program includes a sewing machine that the student will practice on and leave with after graduation.	500,000 UGX
TOTAL		2,200,000 UGX

FASHION ENTREPRENEURSHIP PROGRAM PAYMENT PLAN

Students are required to pay the sewing machine and program fees directly to MODO Academy. Students are required to purchase their own requirements. Payments for the program fees and sewing machine (1,500,000 UGX) may be broken down into 3 payments.

Start- January 2021 June 2021	750,000 UGX 375,000 UGX
October 2021	375,000 UGX
TOTAL	1,500,000 UGX

PROGRAM TIMELINE

Duration of course	1 year	January - December 2021
Essential Theory Hours	130 hours	
Essential Practice Hours	270 hours	

STUDENTS' REQUIREMENTS (MATERIALS) BREAKDOWN

	QUANTITY					
	ITEM	PROVIDER	ι	JNIT	RATE	AMOUNT
1	KITENGE	STUDENTS	3	ROLLS	66,000	198,000
2	POLYESTER	STUDENTS	2	METER	4,000	8,000
3	MACHINE NEEDLES	STUDENTS	1	BOX	10,000	10,000
4	HAND SEWING NEEDLES	STUDENTS	1	PACKET	2,000	2,000
5	TAPE MEASURE*	STUDENTS	3		500	1,500
6	SEWING THREADS	STUDENTS	5		2,500	12,500
7	ZIPPERS	STUDENTS	50		500	25,000
8	COUNTER BOOKS	STUDENTS	2		6,000	12,000
9	RULER*	STUDENTS	1		2,000	2,000
10	METER RULER	STUDENTS	1		6,000	6,000
11	PENCILS*	STUDENTS	4		500	2,000
12	CHALK*	STUDENTS	1	ВОХ	5,000	5,000
13	SEAM RIPPER	STUDENTS	3		1,000	3,000
14	TAILORS PINS	STUDENTS	3	BOX	2,000	6,000
15	BUTTONS	STUDENTS	1	PACKET	2,000	2,000
16	POPLIN	STUDENTS	1	ROLLS	75,000	75,000
17	NYLON LINER	STUDENTS	1	ROLL	100,000	100,000
18	STIFF PAPER SOFT , HARD	STUDENTS	10	METER	2,500	25,000
19	UNIFORM*	STUDENTS	2		20,000	40,000
21	PATTERN PAPER*	STUDENTS	1	CARTON	65,000	65,000
22	PV MATERIAL	STUDENTS	9	METERS	10,000	90,000
23	SCISSOR	STUDENTS		1 PAIR	10,000	10,000

AMOUNT 700,000

PARTICIPANT APPLICATION FORM

Please complete the following application form to be considered and return it to our office on the first floor of Gulu City Mall, above Cynibel supermarket. Upon receipt of application, MODO will contact applicants for an interview.

Applicant Information

APPLICANT'S NAME	
APPLICANT'S PHONE	PRIMARY:
	SECONDARY:
APPLICANT'S CITY OF RESIDENCE: Where do you currently reside?	
AGE	
HIGHEST EDUCATION LEVEL	
HOW DID YOU HEAR ABOUT MODO?	
WHY DO YOU WANT TO JOIN OUR PROGRAM?	
WHAT ARE YOUR GOALS FOR THE FUTURE?	

We are glad you are considering furthering your studies to become a professional fashion designer. We hope to walk with you on this incredible journey and look forward to considering your application.